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RERR | AEHE | AR | HERE | HERE | AERE
50cm 0.09 0.08 0.07 0.07 0.08 0.08
[REO] EARBRO(ZEZOMER)
o 1m 0.09 0.07 0.09 0.07 0.08 0.07
1164 | &2 TET |{REE [EA P RERR ABA ————————— . 1 T e -
50cm 0.07 0.06
[FBO] AERFEOEZLUNMER)
1m 0.07 0.07
o 50cm 0.09 0.09 0.07 0.06 0.09 0.08
1165 |RFERTH |REE ZLIFEFE 9A23H
1m 0.08 0.08 0.07 0.07 0.08 0.08
50cm 0.08 0.07 0.08 0.06
1166 |&2IRTH |{REE LHDARRER 9A23H [RE-BEEZ] 8L
1m 0.07 0.07 0.07 0.06
50cm 008] 008 EFIERBOMSELN =8, FEOOHAE
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1m 0.08 0.08
50cm 0.09 0.07 0.06 0.06 0.06 0.05
1168 |ZIRTHT (41FEE KERTHLIR FTRA#E 8A31H
1m 0.09 0.06 0.06 0.06 0.06 0.05
50cm 0.11 0.10 0.07 0.07 0.08 0.07
1169 | =ER THT |S1FEE LERTELIR TRES#E 8A31H
1m 0.11 0.10 0.07 0.07 0.08 0.07
50cm 0.08 0.07 0.08 0.08 0.09 0.09
1170 | RFER THT |/MERR KR TETILIR FR/NER 8A31H
1m 0.08 0.07 0.07 0.08 0.08 0.09
N N 50cm 0.07 0.07 0.10 0.08 0.10 0.09
171 | RFERTHET |/MERR SIERTETILIR TR/ ER 8A31H
1m 0.08 0.07 0.11 0.09 0.11 0.09
N N 50cm 0.08 0.09 0.09 0.08 0.09 0.09
172 |[ZIRTHET [Pk RIERTETILR T 2R 8A31H
1m 0.09 0.08 0.09 0.08 0.09 0.09
50cm 0.09 0.08 0.07 0.08 0.10 0.10
[RE-BEZ] &KE
) N N N 1m 0.08 0.08 0.08 0.08 0.09 0.10
1173 |&2IRTHE |SEFER SEENREH AR m———T——— 1~ -
50cm 0.10 0.11
[RE-EEZ] HEi5
1m 0.09 0.10
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N N 50cm 0.10 0.09 0.09 0.09 0.13 0.12
1174 | RZEIRTHE [BHEFER RTFER 8A31H
1m 0.08 0.08 0.08 0.08 0.13 0.12
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